EoRYaEC R

J\__Qrrnl J\QTrn2 /\QI1Yn2/
O Y ® N\ ® D)

ﬁ PIASTRA SPECIFICA - SPECIFIC PLATE 2
PLATINE SPECIFIQUE - SPEZIFISCHE PLATTE - PLETINA ESPECIFICA
™
@ G Q@ -
' BMW RT100RS '96/'00 l o
™
@
Z R
= ISTRUZIONI DI MONTAGGIO - MOUNTING INSTRUCTIONS SHEESE}O 233585}0 VISM 6 X 75
k INSTRUCTIONS DE MONTAGE - BAUANLEITUNG - INSTRUCCIONES DE MONTAJE -/ SUPPORT SUPPORT
./
r

loistanziaLe @
14X40 FORO 7
VITE ORIGINALE VITE TCEIM6 X 25 | |vite TceiM 6 x 20 | |RONDELLA @ 6 PIASTRINA DADO M & G TANES
ORIGINAL SCREW SCREW M 6 X 25 SCREW M 6 X 20 WASHER @ 6 LITTLE PLATE NUTM & COLLIER DE
VIS ORIGINAL VIS M 6 X 25 VIS M 6 X 20 RONDELLE® 6 PETITE PLAQUE ECROUM 6 SEPARATION @ 14540
@,TY n.-/ @TY n.2) Q.TY n.y \Q..TY n.y @TY n.y 'QTY n.4 ) \ Q.TY n.2 )
-TOGLIERE IL

PORTAPACCHINO
ORIGINALE

-TAKE OFF THE ORIGINAL
LUGGAGE CARRIER
-ENLEVER LE PORTE
PAQUETS ORIGINAL

J
© Copyright 31032003MV-Rev03, 'I;’]j




